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(#1-10) Choose the option that best completes each

sentence. (2 points for each question)

1. Not being to get average grades, the
student constantly worked hard to score near the
top of her class.
(1) content
(3) mindful

(2) lenient
(4) reluctant

2. To prevent wasteful spending, each department
will need to provide regular financial reports that
all expenses.

(1) pass up (2) count on
(3) account for (4) tie off
3. The apartment building grew so with

age that it was totally beyond repair.
(1) embroiled (2) dilapidated
(3) squandered (4) circumvented

4. The experimental movie did not have a script, so
the actors had to all of the dialogue.
(1) administer (2) encapsulate
(3) improvise (4) overhaul

5. Border patrol agents all of the illegal

goods from the smugglers.

(1) subsumed (2) extorted

(3) incarcerated (4) confiscated

6. Since Herman Melville’s novel Moby Dick is long
and full of digressions, some readers prefer the
version.
(1) abridged
(3) mitigated

(2) protracted
(4) expedited

7. Travel insurance offers protection from virtually
all possible that might adversely affect
your holiday.
(1) adornments
(3) protrusions

(2) interventions
(4) contingencies

8. After a serious argument, couples often need
some time and space before they can begin trying
to .
(1) reinforce
(3) revamp

(2) replenish
(4) reconcile

9. The man found his mother-in-law quite
because she constantly interfered in his personal
matters.
(1) surreptitious
(3) precocious

(2) nonchalant
(4) meddlesome

10. Many voters criticized Mayor Park for
on his campaign pledge to increase support for
the police.
(1) ruminating
(3) stuttering

(2) reneging
(4) consigning

(#11-20) Choose the option that is closest in meaning
to the underlined part. (2.5 points for each question)

11. Rooftop pool access is complimentary for hotel
guests and $15 per day for outside visitors.

(2) discounted

(4) unlimited

(1) luxurious
(3) free

12. Enticed by better pay, the woman left her
employer for its largest competitor.
(1) Hindered (2) Skewed
(3) Touted (4) Lured

13. The mystery novel’s ending is foreshadowed
during a short exchange between the main
characters in the first chapter.

(1) solicited (2) maintained
(3) signaled (4) assembled

14. The cost of gas fluctuates in response to shifts
in consumer demand and crude oil prices.
(1) varies (2) separates
(3) merges (4) collides

15. Smiling and open, the company spokesperson
embodied the firm’s values of friendliness and
honesty.

(1) salvaged
(3) bestowed

(2) calibrated
(4) exemplified

16. When describing the risk of armed conflict, it is
important to avoid hyperbole, which could cause
unnecessary panic.
(1) aggression
(3) overstatement

(2) misjudgment
(4) recklessness
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17. Not even terrible weather could dampen the 25. The tenant demanded that he advance
mood of the happy couple on their wedding day. notice of any further maintenance work outside of
(1) repel (2) depress his apartment.
(3) allay (4) sway (1) will be given (2) is given
(3) would be given (4) be given

18. The CEO gave a laconic response to the
reporter’s question and refused to elaborate
further.

(1) candid (2) banal
(3) meek (4) terse

19. Despite several team members voicing misgivings
about the proposed project, the manager went
ahead with it anyway.

(1) reservations (2) intricacies
(3) provisions (4) disparities

20. The ruler had sagacious advisors to help him
make difficult decisions.
(1) astute (2) taciturn
(3) brazen (4) sanguine

(#21-30) Choose the option that best completes each
sentence. (2.5 points for each question)

21. The store manager is considering
more workers before the busy holiday season.
(1) hire (2) hiring
(3) to hire (4) hired

22. Environmental groups are criticizing the

government reacting so slowly to
climate change.

(1) for (2) on

(3) by (4) of

23. By the time the parents arrive home, the
babysitter the kids ready for bed.
(1) already got (2) had already gotten
(3) will already get (4) will have already gotten

24. Finding that the package tour offered him
freedom to explore the country, the
man regretted deciding against traveling

independently.
(1) few (2) little
(3) a few (4) a little

26.

27.

28.

29.

30.

Prior to the first unmanned lunar landing in
1966, close-up images of the moon’s surface

(1) had been captured before never
(2) before never had been captured
(3) had never before been captured
(4) never had been before captured

The employee preferred working alone because
he found .

(1) difficult to work with his colleagues

(2) his colleagues difficult to work with

(3) working with his colleagues difficult to

(4) it difficult to working with his colleagues

Experts predict that the new law

owners of gasoline vehicles to pay heavy taxes
will increase electric vehicle sales.

(1) requires (2) required

(3) requiring (4) to require

Demand for elderly care and support services
expected to rise in response to the

nation’s aging population.

(1) is (2) are

(3) has (4) have

mostly for his plays, Shakespeare
also wrote many highly regarded sonnets.
(1) Remember (2) Remembering
(3) Remembered (4) To remember

_25_
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(#31-40) Read the following passages and choose the
one best answer for each question. (3 points for
each question)

Question 31 is based on the following passage.

Until the late 19th century, police had no formal
system of identifying those who had previously been
convicted of crimes. Simply by using an alias, a
criminal could hide the fact that he was a repeat
offender. To solve this problem, French researcher
Alphonse Bertillon devised a scheme based on
photographic  portraits, “mugshots,”
comprehensive physical descriptions. When a person
was arrested, police would obtain detailed physical
measurements, note distinctive physical features, and
take carefully arranged photographs. The resulting
material would be filed away and then used to
establish the identities of those involved in later
Although police today have a far greater
range of tools at their disposal, they remain indebted
to Bertillon for his efforts to (A)

or and

cases.

31. Which of the following is most appropriate for
blank (A)?
(1) improve on earlier systematic methods
(2) identify those wrongly convicted of crimes
(3) refine the process of crime scene investigation
(4) create a standard method of cataloguing
criminals

Question 32 is based on the following passage.

When toddlers play, they often want a parent to
participate. Such requests are opportunities for
parents to bond with their children while fostering
social,  emotional, cognitive  development.
However, parents should resist the urge to respond
affirmatively to every invitation to engage in play.
Many of the benefits of play are derived from
exploring activities independently. When parents
constantly intervene, their children lose an important
opportunity to harness their creativity and develop
self-reliance. Overall, then, parents should do their
best to (A)

and

32. Which of the following is most appropriate for
blank (A)?
(1) include different forms of creative play
(2) supervise their children’s activities carefully
(3) allow their children to direct them during play
(4) strike a balance in terms of taking part in play

Questions 33-36 are based on the following passage.

The American pilot Charles Lindbergh is best
known for making the first nonstop solo flight across
the Atlantic Ocean. He used the financial backing of
several prominent investors in his hometown of St.
Louis, Missouri, to pay the Ryan Airline Company in
San Diego to construct his iconic plane, the Spirit of
St. Louis.

When the plane was complete, it was brought to
Lindbergh’s departure point of Long Island, New
York. After being delayed for several days in Long
Island due to inclement weather, Lindbergh finally
took off on May 20, 1927. The “great circle” route
that he had charted would take him along the coast
of Newfoundland, Canada, and then over the Atlantic
Ocean and Ireland, before ending in Paris, France.

His altitude ranged from merely a few feet above
sea level during the day to over 10,000 feet at night.
According to Lindbergh, he spent much of the flight
struggling to see. He was forced to contend with
thick fog and clouds. (A) , the plane’s front
window area had been replaced with a gasoline tank
to minimize weight, leaving him reliant on a
mirrored instrument on the side of his plane to see
ahead. Fortunately, in the late evening of May 21,
1927, he landed safely in Paris, 33.5 hours after
takeoff.

33. Where did Lindbergh take off from for his
historic flight?
(1) Paris
(3) New York

(2) St. Louis
(4) San Diego

34. Which of the following is closest in meaning to
the underlined word charted?
(1) tracked
(3) detected

(2) planned
(4) ranked

35. Which of the following is correct about Charles

Lindbergh?

(1) His trip included brief stops in Newfoundland
and Ireland.

(2) He departed a day earlier in order to avoid
poor weather.

(3) He flew at high altitudes only during the
daytime.

(4) His forward view was blocked by a fuel tank.
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36. Which of the following is most appropriate for
blank (A)?
(1) For example
(3) Moreover

(2) Nevertheless
(4) In conclusion

Questions 37-40 are based on the following passage.

When the Maya empire fell to the Spanish in the
16th century, numerous documents written in the
Maya script were destroyed. In addition, Mayans
were forced to learn the Latin alphabet and to speak
only in Spanish. As a result, the script that the
Mayans had wused prior to
became impenetrable.

The first to try to decode the Maya script were
the conquistadors themselves. One of their number,
Diego de Landa, described the script as an alphabet,
having assumed that its symbols were analogous to
the phonetic symbols of the Latin alphabet. By the
20th century, however, the (A) view was that
the script was a pictographic system—that is, each of
its symbols stood not for a single sound but for a
whole word or idea.

Then, in the 1950s, a Russian linguist named
Yuri Knorozov chanced upon a replica of a Mayan
text. Approaching the symbols with a fresh pair of
eyes, Knorozov concluded that there were too few to
form a pictographic system but too many to form an
alphabet. Instead, he realized, each of them
represented a syllable, or a compound of vowels and

invasion eventually

consonants. While Knorozov’s research met with
resistance at first, it eventually came to Dbe
recognized as a pivotal contribution to the

understanding of the script.

37. What is the main topic of the passage?
(1) The unique complexities of the Maya script
(2) The attempts to decipher the Maya script
(3) The linguistic origins of the Maya script
(4) The cultural influence of the Maya script

38. Which of the following is closest in meaning to
the underlined word impenetrable?
(1) unsubstantial (2) imperative
(3) inaccessible (4) unacceptable

39. What did Knorozov propose about the Maya
symbols?
(1) They were syllabic.
(2) They were alphabetic.
(3) They were pictographic.
(4) They were non-phonetic.

40. Which of the following is most appropriate for
blank (A)?
(1) comprehensive
(3) prevailing

(2) arbitrary
(4) exceptional
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